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1. Identify the following in the reaction: 2Fra2+ + Crz — 2l=e3+ + 2Cl‘ ('F- Waiks)

2. The oxrdiz_in%f_agent Cl, Le The spe-cnes ga!nfrig e!ectrons il

i:. The species -being'; oxidized F_:ﬁzf f. The species losing electrons F_‘ez—*
7c, The reducing agent Fel"' gd. The product of oxidation Fet
..... d. The species being reduced Cl % h. The product of reduction i

2. Use the Standard Reduction Table to answer the following. (v meds)
a. Will Bry oxidize Augy? Explain. €S, Brsey  is hiotier e Hae dekle
St S [
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b. Give the symbaol of an ion that will oxidize Mngey buk not Cryg.
Which is a stronger reducing agent, Sn®* or Fe®* 7 Sn®*
Can you safely put a gold ring in acidified dichromate solution? What about acidified bromate solution?
Explain, __Audrey jg l»u.c.lum ga e fepbte o8 et repfos s Y XQeced
San Cr. O, 2= Mg Oy ey esxiely zicracgend SO worll riof readh,
= At rs) voill mot ceard wortin BrOy~ + ot1T eitvire or saivie reasan

3. Four metals A, B, C, & D were tested with separate solutions of A%, B, C¥ & D™. Some of the results

are surmmarized in the following table:

List the ions in order from the strongest to
weakest axidizing agent. (2 marks)
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" reaction

4. Balance the following half reactions. (3 mesks)

a, BrOy — Br' (basic _
35{93}——4, T v e —3 Br T+ 3O 2Oz~ + 3Ot be” —>

oD —> EH* 1 OH - T
‘711 U
b. HCIO; +» — Clo5 {acndlc}
HoO+ HCVO, ——> CI05 + 3H+ 4 +Fe”

Ga —_ H;Ga0; (basic)

e +,g¥(( o = W3Galy - +M§ Ga+ 5H0+9e ™ —> W, GaO3™ + BOH -
BhrG — BT 80 -



